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(a) What is Integrated Accounting ? State its advantag€s' 6

(b) Write short notes on:

(, Perpetual inventory system

(r) Activity Based Costing (

(rii) Idle time. 9

(q-l qifu-c tor*lq er d.m t ? ss+ er$ qr Yets

+1tqst

(q) rilelq ftHFFfi ftH :

(, sd( qrd{fi vund

(,,) qf*Tdl 3nqrftd ertrc ftqtrot

1ir,1 fifw-< vwr
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(2 ) TNz

(o) "Cost Accounting is a system of foresight and not a post_

mortem, it turns.lmses into profis, speeds up acfivities

and eliminates wastcs." Do you agree ? 6 (

(r) The following information is related to Material X :

Maximum Consumption 600 units per montlr

Minimum Consumption 100 units per month

Normal Consrmtption 300 units per month

Yearly Consumption 3,600 units

Storage Cost 5070 of Stock Value

Ordering Costs Rs. 400 per order (

Price of Material Rs. 64 per unit

O Re-order Level

(ii) Minimum Stock Lev€l

(iO Maximrmr Stock Lcvel

. (23 ) Tts2

Compute the profit in Financial Accounts as well as in Cost

Accounts and prepare Reconciliation Statement showing clearly

the reasons for the variations of the two profit figures. 15

3r qrd,2ol7 +i qqrq ES q{ + feq Eic-+ + daiq d
FTqM€d f+$ grser E :

fufrqtsr Hmd+qr

({.) (F.)

3rRfirfrRiir:

(

rl

zs=ll qel

qr4c{ftq{

tqng+
siftqefo:

ifirllqtl

6,r{y{frq{

tqr€t.
sffi.fi
e-sq{s(Rqt

qYgqlTfffrd

+d+s{
ffi

430o

3:70

62fi

2l,ooo (3f,q{itk()

6,m0

7,m0

5,0m

4,00

3,000

5,m0

,l{),000

D.ry

3,m

17,m0

l,rqmo

(

(ry) Average Stock Lcvel. 9

t,

P.T.O
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5.

. (22 ) Tcn

The following figures were available for a company for the

year ended 3lst March, 2017 :

t'*;.,''" t",':1"

(6)

(q)

(3) Tp2

qrrd +srfi{q qcflfl v"n€i t +{ q(uiltr{

qtur rfir q6 trfird d dlsi t qco td t,
,rftfqflrd d A-.a o-{ tfi t otn <c+rfi aal q q''{fr

tr sr snc gvs v5rt i i
q-{d x t {ftriFm {ulT( ftqtufis6 f, I

srfcr*-aq reqe ooo ai+a ufr ure

qrfi 1irrrd roo 1i+a rfr um

{rFlrq Erq( 3oo f,rz Yfr qrt

tfito rsqa :,oooafi-a

lISRUI EtrId el-fi t5, {g t6'l 5u%

qttfl M 61 or.rii aoo t. Yfr ertvr

T<{ 61 64 F Yfr dfc

314 +lfeq :

(i) 5l:wtn ot wr

(r, qrar elo, <t

(itr) 3lfirtr(q et6 RR

(,y) sft(rd €Ffi 1<r{ I

P.TO.

Opening Stock :

Raw Material

Work-in-progress

Finished Stock

Closing Stock :

Raw Material

Work-in-progress

Finished Stock

Purchases

Direct wages

lndirect wages

Factory expenses

Sales

Administration expenses

Selling expenses

Financial exPenses

Interest rectived

s,000

65m

4Joo

4,300

3,700

62W

21,000 (absorbed)

2,300 (absorbed)

4,500 (absorbed)

6,000

7,000

5,000

4,000

3,000

5,9m

40,000

20,000

3,000

t7,0@

l,l0,0m

3,000

4,000

r,000

1,600

1r

l) 4

( (



(4) 77q)

o/ (sreGrr)

(r) Distinguish berwcen :

(, Fixed and Variable Costs

(il Direct and Indirect Costs

(ilD Cosr Conrrol and Cost Reduction. 6

(b) Prepare Store Ledger using.,Weighted Average Method,,

ofvaluing the marerial issues from the following details

of store receipts and issues of Material .,A,, 
:

March I Opening Srock 2.000 units @ Rs. 5.00 each

3 lssued 1,500 units

4 Received 4,500 units @ Rs. 6.00 each 
(

7 Issued 1,600 units

8 Returned to stores 100 units by production

department fiom the issue of March 3

15 Received 2,400 units @ Rs. 6.50 each

18 Returned ro suppliers 200 units from the

material receiyed on March 4

( 2l ) i7q2

nf€ y'Rrtq-d r6.ooo{Ft

eifrq qld y,rfr vr 6,ooo{Htqir

{"f-dr s1 o1ft : qrqfi $r/o

' 9Iq ff/o

BqR-qq tr/o

. qFrE{ qfds fd- yfuqr + +{rr +i Eft Td
e{r

(1c) \rs s-.cq Ei ets-crait I tlo-r ty{fl t I

yfu-qt tfi Tffr({ ci$-q tr trr Fr+fl q{ qrdr tl
cFfiqr r d cke s-q qa ro r. yfr frF.n. s1
Et t 20,000 fq-lt. tr Errtfl rrqr vcKr ofq''.$ Fs
qr6 + rdq r+qnnqc E :

yfr-qr ufr-qrll
FFISI 1frTfr 60,000 {. 40,000 T.

yFrQ Erg 40,000t 30,000 F.

3-frtfi Eqkqq 3e,000 S. 40,250 F.

qlqrq EIft P/o syo

Emet (f+d i) rE,m n,ffi
yfd {fus F. ft1 Afr 2N 3.oo

siq-fi E1 +ft otfrq EflE fti fq-sq stqd qt
n-$-* t rq q-ri 61 t ffi faqrq.*Ed q{ 2s"z
onr sq d vS r yFrqr +ut +qR 61lqq orh eifrq
Tfrr< ft1 cfd Xfr-c fu*,,a *tqf, m frqirq oltsSt

P.T.O.
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( 20 ) .Tp2

(6) A product passes through two processes The output of

process I becomes the input of process ll The quantity

of raw materials introduced in process one is 20'000 kg (

at Rs. l0 per kg. The cost and output data for the month

as follows :

I5r 7152

A Received 1,000 units (@ Rs 7 00 each

b Issued 2,100 units

n Received 1,200 units @ Rs. 7.50 each

3l lssued 2'800 units

Use rates up to two decimal places. What is the

quantity and value of the material consumed in the

nronth of March ? I

(q,) fiTqfuns( d eio< qauq :

(i) 1ql4 3It{ qfqfi eT'Tt

(,r) 9-gsl 3it{ 3r9-gST drrril

(,,, erqil fi+rrr 3il{ elrRl qer l

(€) "rrrft( strsd islti' sr vfti q,{-& {sR +q{ +qR

s1iqs d frfu {sR q1 erfidd str< erq* 'e"

+l qTt q,,li s1 fiTqfuflq( ffiffi t sTq'n qrt

qri ol {eiffi o''.ri * ftq t :

qrd | 3n$r*. d* z,ooo Ifrd $l5.oo F. Yfr

{t{z Hi <t t

(

Direct materials

Direct labour

Production overheads

Normal loss

Output (in units)

Loss realisation of Rs./unit

The company's policy is to tix the selling price of the (

end product in such a way as to yield a profit of 20%

on selling price. Prepare Process A/c and determine the

selling price per unit of end product. 9

(q ) rrpo frFt * irt-t frqftfe-c ffi t qqge wm
nrd 6Tqq

wtq i o'r{ Yrfu qr 4,ooonftf

Atar +1 +18 : qrc'n wo

9fq 6U/o

sqFaqq tr/o

Proc$s I

Rs. 60,000

Rs.40,000

Rs.39,000

8o/o

l&om

2.W

Process ll

Rs. 40,000

Rs.30,000

Rs.40,250

5o/o

17,400

1.00

lr

(l

P.T.O.
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(6) 7?c2

3 r,5oo {fti qro { Ir{

4 4,soo nfrt o.oo o. S fi. st <r t
crs E{ (

7 l,600 1F{: qRt 61 'd
. 8 rsr<c frqrr arq: qrd a1 qrfr E1 T$

roo d?: {.m t srcs 61 ri
ts 2,400 nfrt o.so E. yfr dic e1 <t t

yrqr-Et

t8 vRTr+C +lzoo 1frI,+ qrd oi yrq o1

T{ qrcfr t qrss El ,r{ rr

u r.ooo nfrJ z.oo r. yfr d+c *1 <t e
yrq 'rg (

x z,roo Xfr) qr0 El rrf

n l,2oo diU 7.50 r. Irfr nfrc sl << t
yrq Ei

31 2,800 Xf{: qrfr El ,r{

sfr m.t t <vrqe-q rqnl r* y*q qifqsr qd *
qfii d qcd s1 T{ srcm q1 qr*r qh {s Hr 

('

tu

( 19 ) nc2

qr* qr Ef, yrfu qr zoz tr Eo rfu q{ 30% TrFr

3fifd o.{i * feq yn lr* t tdS sA srd qs *
fouq fl qft-*-e-q oltqqr ffidyfrqr* ftq qrxeil

dfrqq-fllrt.
(, ffi t ri$r6

(,, kd t 3nr{

( r) frd t vqgil

or (Stgtrtt)

(q) Find out the equivalenr production from rhe following

data under the FIFO method :

Opening work in progress 4,000 units

Degree of completion : Materials Wo

Labour 6U/o

Overheads flr/o

Units inroduced

Closing work in progress

Degree of completion :

(

it

(

Materials

16,000 units

6,000 units

Wo

tr/o

ff/o

6

P..r.o.

Labour

Overheads

Assume there were no process losses.



(ls) TE2

(,, ffi t 3rIrRI 3Ik slcs 3S ftr; qfr ilq 41 T{

r2o ffi. (t[ irr6; Y*{ qr6 Ed H d {ql
ro;*d th1 qFrfl i5It5%9ArI E3qIl (

(,,,) f<d i qqs{ dR slcs sS Rr; qfr Tq s1 rr{

2zo Fi6-fr. g+, iR$; r*+' 1116 Td ffi s1 {@l

o; frd o1 srrdl 6I loo'/. q+{ Eqll

srq ffi'Sd ge ror t :

qq s1 eFR 60,00'000{'

qr5+r *r t(r;I 2o'ooor'vftqr6

rt'sgr ar io-t 2o,ooot'!frqr6

r*vr+rkq Aglq€ 6I ttr{ lo'ooot'lfrqr6

qs or frq 48'ooos'nfrq{

4 ffi. yft qts{ + f6$s t *{d q1 s'rc qqt+, (

*qo +o F. efr der t
w-s i6{

qffit{,t t-d

qfira qw
q{qd 3tR rq{qrs w sd
qq t[,I Ts6s

12,000t. vfrs{

rot. sfr m.
4,600 {. cfr 1116

r4,,roo{. rftqr6

zo.z"vft qd q1

<{t
soqk

(7) ne

(a) . ln a manufacturing conc€m, ovetheads were recovered

at a predetermined ratc of Rs. 25 per labour hour' The

total factory overlreads incuntd werc Rs' 40,00'000 and

the labour hours acnratly worked were t,50,0@' Out of

the 40,000 unis produced during a period' 30,000 units

wert sold' On analysing the reasons, it was found ttat

607o of the unabeorted overteads were due to defeclive

planning and the r€st w€re due to increase in overhead

costs. How would unabsorbcd overheads be treated in

cost accounts 2 6

(6) Briefly explain :

(, DifFerence between allocation, apportionment and

absorption of overheads

(r4 Difference betw€en Joint Products and

BY-Products

(ir, Treatment of intercst or caPital in Cost

Accounts. 9

. P.T.O.

)
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(8) 7792

(+,) qo- t{'qiur efrEffi d scftqd 6l TdfrqfRd <t,
zs t. yfr xq tia qr q{d f6-qr .nnr ffi *
Ed Ecfuqq 40,00,000 r. i oitt qrws d ,,ro,ooo 

(

ryq d? q,q ts-<tt r:flrftd ao.ooo afrd d t w
ersfu d :o,ooo qFt *s A .rf r olioil or fudqur
q-d qr c-dr qm f+.ooz st-{-qYtfrilsqR-q asTlf
qr+u-{ + rsrur Eq q *r fu Bqft-qq Enrl q

Efu * q'nw r erro ffi fr {q err-q*fuc sqkq{jt
d fo.s l-+n y-sRfd stt z

(s) {Sq d qreqr s1fuq :

(i) sqfrqd * a6*, yqm{ 3itr ir<$qur i
3iil{ 

(

(i0 riTft B-€d ot{ Bs{flrd d 3i,r{ ,

(,', tlrrfl ffi d t* y{ afiq fl y-qviqr

or (qerqD

A manufacturing company has two identical large and four

identical small machines. Each large machine occupies one quarter

ofthe workshop and employs frrlly &ree worken and each small

machirrc occupies halfthe space ofa large machine and employs

fully two workers. The workers are paid by piece work.

( 17 )

Salary of pan time accountant

Insurance of the bus

7792

Rs. 10,000 p.m.

Rs. 48,000 p.a.

. Diesel consumption 4 kms. per litre @ Rs. 40 per lirre

Road tax Rs. l2,0oo p.a.

Libricant oil Rs. I0 per km

Permit fee Rs.4,600 p.m.

Repaim and mainlenance Rs. 14,400p.m.

Depreciation of the bus @ 20o/o p.a.

Seating capacity of the bus 50 persons

Passenger tax is 20olo ofthe total takings. Calculate the bus fare
to be charged from each passenger to eam a profit of 30oZ on
total takings. The fares are to be indicated per passenger for
the joumeys from :

(, Delhi to Chandigartr

(ii) Delhi to Agra

(r., Delhi to Jaipur. 
15

T+{r * qrur gs.qs t d fturfefun ergq* + qWR
vsmt:
(,) fcts t ri6tr6 +r qTTq rS f<t; q0 aq ql

T$ lso f+fr. (16. iRtF; y+*. qr6 Tifr H E1
firqr r; rfrd q1 STTdr t6I eool" lr+{ Esrr I

P.T.O.
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( t6 ) 17q2

qm ffis {i?iz ffiqd: ss {f{qT d leq r erq
t. t stqT rrzrT stlt 3l qrd,zors +1 qqriq tr*
W {fuqr d gS ilq ii Ai * sK Ess'r {s
5 EIr€I E. qt r qq :i skl q qr€ qr qrcqt q't I

orkr 18 rtrq {qq or$rftn di +$ Sr :r rrd,
2p15 66 3qfud yqsr q$<ffi ro,ooo r. q1 S r rr
qrd, zors qlrsqla ES E{ * feq rff* tqr tqT{

sifsC afR qTel f,qr Erf+ trB I t qrq 'rq orrr

*-t erFffif,{ qifqqr

Rakesh owns a bus which runs acoording to the following

schedule:

(0 Delhi to Chandigarh and back, the sam€ day; Distancd

covered: 150 kms. one way; Number of days run each

month : 8; Seating capasity occupied:907o.

(rl) Delhi to Agra and back, the same day; Distance

coyered : I20 kms. one way; Number of days run each

month : 10; Seating capacity occupied i 85%.

(ili) Delhi to Jaipur and back, the same day; Distance

covered : 270 kms. one way; Number of days run each

month : 6; Seating capacity occupied : 100%.

The following are the other 
-details 

:

Cost of the bus Rs.60,00,000

Salary of driver Rs. 20,000 p.m.

Salary of conductor Rs.20,000 p.m.

' (9) 7js2

Each ofthe six machines is estimaled ro work 1.440 hours per

year, while the effective working life is taken as 12,000 working

hours for each large machine and 9.000 working hours for each

small machine. Large machines cosr Rs. 20,000 each and small

machines Rs.4,000 each. Scrap values are Rs.4,000 and Rs. 100

respectively.

Repairs. maintenance and oil are esrimated to cost for each large

machine Rs.4.000 and each small machine Rs. 1.200 durins iLs

effective life.

Power consumption costs 5 p. per unit and consumption for

a large machine is 20 units per hour and for a small machine

2 units per hour-

The manager is paid Rs. 4,800 per year and workshop supervision

occupies half of his time, which is divided equally among the

six machines.

Rent and rates to rhe workshop rotal Rs. 6.400 a year and lighring

(to be apportioned in the ratio of workers employed) 1,g20 a

year.

Taking a period of three months as a basis, calculate the

machine hour rate for a large machine and a small machine

respectively. 15

P.T.O.
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( l0 ) 7'1q2

qa. Frrfor # S qs fr q*'stn q.S eilr eR q-+-sqn

drE q{fri tr ed"n q-$ q{frr fl{sror q q-o-dqd

ftRi t( A-fi t 3tR (tl flFffi *1 X0 arc mrq tfr (

t dk eA'+' +a q{frr qS q{fi-t t qrql q-.r6 ffi
t e*< ryk, A q'fiqii *1 erq tfr tl flFH 4l l,T

+ ftstq Q t$ Rqr sTd.r tr

6; qqfl-fr t t e+6 q{fl-t qd d w3'6a6' t'++o tit qtq

6{fr t q-dfs vqrql ffio +fi Te'+- q-e qat{

d fuq rz,ooo q'rffif, =A dk e-&+. EtE qqfi-{ + fdq

e,000 mr4{ilfi =it d-m tr qq qsH 20.000 F. qfr qqfrq

erro e1 t ft *a qfi +,ooo r. vfr qsfl-r qrTa el

tr gq-S {fr {iq sq{Ti 4,000 t. si}< roo t. tr

ves eqi q{fl,t q1 q{srfl, {€rrcnq d{ A-d si q-Jqfin (

qlrkr 4,000 r. eik T&-fi dA q{frr q1 vqr* qt'fi +

trn r,zoo t. tr

ffi 61 q.ra s N cfd afiz t otR q-fr q{ft-c *' fdS

ffi q1 EFFI 20 {t{c vfd =ia nq 6tA q{fi-{ st

z {t+a vfr :ia tr
ytiqo q] 4:800 F. Tft q{ Rqr snr t efu qdvtr-flI

* c-4aqrr ii cqS errq fil eIIQI drrflt t ffi e, qsf it

q{ q{rq{- cmER fAr SrAr tr

( 15 ) '1'152

at Rs. 18 lakh. Direct wages accrued as on 3lst March,

2015 was Rs. 10,000. Prepare Contract A/c for the year

ended 3lst March, 2015 and compute the profit td be taken

to the Profit and Loss A/c. g

(s) qfs + ern-f{qtq, rif*qt crrd ftert{"T 3ik ee-q

onm frqi'rq ii eior qar{sr ffi A 3*it +
lrq q-6r{q fii-{ii t q-d"6 * fuq errd ftqt{q f6q
scgfi +tr

(q) q*- fiqtdr qiq-fi i rt+ {fuqr roe drq tw 41

srjq,ffi qiqd .n t fuo ffi rt qlq {. sl
qq*q erq nr&-'e tr :t qrd, zots d scrw Es

sd *' ff,s {'rd ff qq trsR t :

r. rsrfr ti

srqfr qrg qq srfr o1 ,Ti

l-ssr r${ftzi'<i Ti

{.i? f*-'{c q< lcqt

(rfc q{ flqfdq q1 orK

qr{a t ercs 3Tr{ qq'n

9€Sr q{

ssrfu( t6]{

g'rft e{ffi?fr sIK Ei

5,000

3,800

700

n0

lm

500

10,000

72ffi

P.T.O.
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( ll ) 7'rs2

Rs.

90,000

60,000

tzoo0

15,000

5,500

3,000

33,5m

5,500

2W

I 1,500

P.T.O.

(")

(b)

( 14 ) 7752

or (3tEqr)

Distinguish between Job Costing, Contract Costing and

Process Costing. Name any n o industries each in which (

these costing type would be suitable. 6

A construction company undertook a conlracl at an

estimaled price ofRs. I08 lakh, which includes a budgeted

,profit ofRs. lE lakh. The relevant data for the year ended

3lst March, 2015 are as under :

Rs. '000

Materials issued to sites 5,000

Direct wages paid 3,8m

Plant hired 7m

Site office cost no (

Materials returned from site 100

Direct expenses 5m

work certi{ied lo,ooo

Progress payment received 7200

A special plant was purchased specifically for this contract

at Rs. 8lakh. After use on this contract till the end of

3.lst March, 2015 it was valued at Rs. 5 lakh. The cost

of material at site at the end of the year was estimated

ffi{yrr-dr + fe-trq ffii Ei q{ tel 6,400 r. vfr qd efi
t s*{ {n qslfrrd q.G q{ 1,820 r. eft qd 6G t trQ
fiTfi sffidt S erSwa t'vqrtqo fo-qr war tr

oTrqx + Fc il Et{ qr6 s1 srslq A-fi, q-S q{frr

silr EtA q{fl-{ ql xqv: qvfl-{ tio q{ qfitq'idd

+lfqq r

V Ltd. furnished the following information for 10,000 TV valves

manufactured during the year ending 3lst March, 2017 :

3

a i

Material

Direct Wages

Power and Consumable Stores

Indirect Wages

Factory Lighting

Defective work (Cost of Rectification)

Salaries and Management Expenses

Selling Expenses

Sale Proceeds of Scrap

Plant Repair and Depreciation

(

(



( 12 ) 7'7s2

The net selling price was Rs. 31.60 per unit sold and all units

were sold. As from lit April,20l7, the Selling price was reduced

to Rs.3l per unit. It was estimated that proiuction could be (
increased in 2017-18 by 50% due to spare capacity. Rates of

materials and direct wages will increase by 109o.

Prepare :

(, Cost Sheet for the year 2016-17 showing various elements

of cost per unit; and

(r, Estimated cost and profit for 201'7-18 assuming that

15,000 units will be produced and sold during the year

and factory overheads will be recovered as a percentage

of direct wages and office and selling expenses as a '
percentage of works cost. 15

v fu[q]s i : r rnd, 20 17 th] rrrrq gq ed d <t<rt ro,ooo (

A.*. sreif + ffq * foq 6q16p.u Wrr( fl
ts:

( 13 ) 7'7q2

iqfd ql{ (cnx}trr et on'n) 3,ocn

io-q nqr Fitr s-{ . 33,500

fusq qi 5,soo

rfr qre e1 ffi t srfu 2,ooo

{zh si qrqo ei}< qsas u,soo

fr"{d tdfrq' qtrc t*'ri cfr qfu lr.oo F. S sih q$
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